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Figure 2A
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Figure 2H
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Figure 4
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Figure 5C

786-0

FASN
(273KDa)

GAPDH
(37KDa)

ScD1
(37KDa)

ACLY
(122KDa)

GAPDH
(37KDa)

L _ - = - - o 1)
’ —180
R o 3
- -— P A — - 35
PP pp— «=130
«=100
- D oo ew e e -— - -—

pSREBP1
(120KDa)

nSREBP1
(68KDa)

SREBP2
(126KDa)

GAPDH
(37KDa)

ACC1
(280KDa)

PLK1
(62KDa)

GAPDH
(37KDa)




OS-RC-2 (120KDa) || «100
’

y 9

FASN
(273KDa) —-180
ACLY
(122KDa) B (e ey, =130
«=100 NSREBP1
GAPDH (68KDa) - e e 70

SREBP2 . «=130
(126KDa) .. «100

scpl ! = K
(37kDa) T g =35 GAPDH pnv——
(37KDa) 35

GAPDH
(37KDa) i el R 1
PLK1 2| =70
ACC1 (62kDa) | [Tn |55
(280KDa) - e e e - 180 GAPDH .l
(37KDa) P 35
GAPDH
(37KDa) ke d R R ST =35




Figure 5E
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Figure 5E
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Figure 5G
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Figure 5G
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Figure 6A
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